Balancing Equations Race

1) _ CiHg+ __ Oz>_ CO+ __ HO

2) A+ FesN,> AN+ Fe

3) __Na+__ Clz»> _ NaCl

4) _ HO;>  HO+ O

5) _ CeH206+_ 0> H,O+  COp

6) _ HO+_ CO,>_ CiHg+ Oy

7) ___NaClO3> _ NaCl+ 0O,

8) _ (NH4)3POs+ __ Pb(NO3)s > _ Pb3(PO4)s+  NH4NO;
9) _ BFs+__ LibSO3>  By(SO5)3+ __ LiF

10) _ CHpz+_ O;>  CO,+__ HO

11) _ CaCOsz+ _ H3PO, >  Caz(PO4)+ _ HCO;
12) _ AgS > __ Ag+__ Sg

13) _ KBr+__ Fe(OH); > _ KOH+ __ FeBr;

14) _ KNO3z+__ H,CO3>  K,COz;+ _ HNO;

15) _ Pb(OH)s+__ CuO-> _ PbO;+_  CuOH

16) _ Cr(NO2)a+ _ (NH4)2SOs>  CrSO4+ _ NH4NO;,
17)  _ KOH+ __ Co3(PO4)2 > KsPOs+ __ Co(OH);

18) _ Sn(NOy)s+ _ PtsNs> _ SngNg+ _ PHNO3)s

19) _ BoBrg+_ HNO;> _ B(NOj)3+ _ HBr

200 _ ZnS+__ AIP> _ ZngPo+  AlLS;
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Balancing Equations Race - Solutions

1 1C3Hg + 50, > 3CO; +4H,0

2) 2 AI+1FesN; > 2 AN + 3 Fe

3)  2Na+1Clp~> 2 NaCl

4) 2H0; 2> 2H0+1 0

5) 1 CeH1206 + 6 O, > 6 H,O + 6 CO,

6) 4H0+7CO;=> 1CsHs+ 90,

7)  2NaClO; = 2 NaCl + 3 0,

8) 4 (NH4)3PO4 + 3 PBb(NO3)s = 1 Pba(POs)s + 12 NH4NO;3
9)  2BFs+ 3 LixSOs > 1 By(SOs)s + 6 LiF

10) 4 C/Hqy + 45 0, > 28 CO, + 34 Hy0

11)  3.CaCOs + 2 HsPO, > 1 Cag(POu)s + 3 HoCOs
12) B8 Ag:S > 16Ag +1Ss

13) 3 KBr+ 1 Fe(OH); > 3 KOH + 1 FeBrs

14) 2 KNOs + 1 HoCO3 > 1 K,COjs + 2 HNO,

15) 1 Pb(OH)4 + 2 Cu,O 2 1 PbO, + 4 CuOH

16) 1 Cr(NOy)s + 1 (NH)2SO0. -> 1 CrSO;4 + 2 NH,NO;
17) 6 KOH + 1 Cos(PO4); > 2 KsPO4 + 3 Co(OH),

18) 3 SN(NOg)a + 1 PtsNs > 1 SngNy + 3 PYNO,)a

19) 1 B,Brg + 6 HNOz - 2 B(NO3); + 6 HBr

20) 3ZnS+2AIP > 1ZnsP, + 1 AlSs

http.//www.chemfiesta.com




